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PRACTICE PAPER A2 MARK SCHEME

Question Scheme Marks
number
1. @ |uws= (§+@j _2.85773.... =2.86 M1
2 3
Ug = 2.88806.... =2.89 Alc.a.0
[Ifus=AWRT 2.90andus = AWRT 2.89 penalise once only] (3)
(b) (1)
3= 3 + a or 9= §+E M1
2 3 2 3
a_go 3 _3[g_3
3 =9 > or a_3(9 ZJ M1
a=225 Al (3)
(i) (Ifup=uy thenu,=us_) us=3 Bl 1)
(7 marks)
2. (3 b?—4ac>0 (5k)? - 8k > 0, k(25k—8)>0 * M1 Al (2)
(b) Critical values: k=0, k=2 B1B1
k<0, k> 7 < °* o > MLALft  (4)
(A1 requires < and >)
(c) k=0, k= % (Clearly seen as a soln. for (C)) | B1 @)
(7 marks)
3. (a) 3% = 3201) x=2(y-1) (*) M1 Al )
(b) 2y -2 =y*+7, 3y?—8y—-3=0 M1, Al
By +1)(y—3)=0, y=... (orcorrect substitution in formula) M1
1
=— —, =3 Al
y 3 y
8
x:—g, XxX=4 M1 Alft (6)
(8 marks)
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?}ﬂerﬁggrn Scheme Marks
4 @ \8 = 22 seen or used somewnhere (possibly implied). a1
12 _12y8 12 1242
N 22 4
Direct statement, e.g. % =32 (no indication of method) is MO. | M1
dy 12
Atx=8, =~ =3V8+ —= =6V2+3V2=0\2 *
i % () Al 3)
% %
(b) Integrating: 3;( +%(+C) (C not required)
3) L M1AL AL
% b
At (4, 30), 3’;4 L12X47 e 30 (C required) 1
B %)
(f(x) =) 2x7% + 24x72,-34 AL AL  (6)
(9 marks)
5 (a) m = ﬂ(_ _l]
12-4" 2 ML AL
y — 6 = (their m)(x —4) X+2y=16 M1 Al (4)
(b) y=—4X B1 (1)
16
(©) X+2(-4x)=16 —7x=16 X:—7 M1 Al
y= o
7 Al ft
16 64 X +X, Y +Y 6 53
A(4,6), C|l-— | |15 ™) 222
(4, 6) ( Z 7) [ 5 5 j—>(7 7] MLALft (5)
(10 marks)
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6. @9 B1 1)
(b) * Shape B1
Position of max. Bl
5 on y-axis Bl
—1 and 5 on x-axis M1 Al (5)
-1 5 g
Gradient: £—C0) M1 Al
(©) 3-(-2)
y — 8 = “gradient” (x — 3) y=3x-1 M1 Al 4)
@ Wherey =0, x= % M1 ALlft  (2)
o Mid point: (_7;8,_2;3):6, %j k=1 M1AL  (2)
(14 marks)
7. (3 g_z 1 _16x M1AL (2
(b) 45— 16x =0 M1
Ax(x* —4) =0 x=0, 2, -2 A2 (1,0)
y=3, -13, -13 M1AL  (5)
(7 marks)
8. (@) | (x*—6x"+9) M1
(x* =6x° +9) + x> = x—6x"+9x7° *) Al 2)
(b) | f'(x)=1+6x2-27x"* First Al: 2 terms correct (unsimplified) M1 A1AL (3)
Second A1l: all 3 correct (simplified)
(5 marks)
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